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8 Algebra CC 14-2
Essential Question: How do we solve quadratic equations?
Do Now: Solve the quadratic equation below.
3x*—48=0
3(x%-1t) =0
3(X-4) (x+4) =0
x_fl =0 xH 0
X = -
?‘ s 4?
r
/_ (3 ;\ Think about this... :
g \} Is there another way to solve the quadratic equation from the Do Now?
: ; - i 2 _
Solving Quadratic Equations by Taking Square Roots (ax”+c=0) 3x* — 48 = 0
1) Isolate x*
3x* = 4%
2) Take the square root of both sides of the equation = ‘é"
3) Check solution set with the original equation x:,_ (b
(x> - £
Examples:
\ amp (_‘_b_e_(_é_: X = +l+
1) x*=64 2 2) x*—36=0 check: - rs) 3x? —300 check
e =How| 9)=et e IR - 3(-10)*<Fo0
" o = oM Vx* 3¢ | (-4)*30%0 ﬁz =-J!_0— d 3(10)=30
x = ¥ v x=%0b Zb~-3b=0 X =410 300+300
' xZ = M 0=0v | il
S| g | oy B | S s
oH =64 t*-30z0 | $(jo0)=3de
; v’ & j 36~3b-0 —  R00=300
4) 2x*-30=68 el 5) x2+5=8 00w 6) 10x*-20=0| ¥~
¥ 30 R -5 ~5
+30 + 2(-1)-30=68 5-5 check 10x% =20
2x? = 98| 2(N)-30=03 Vx> <5 X2+5 % Sl
2 2 3-30=68
’ ?es-es x=*t3 | (@)'+5=3 X =2
x> =41 v {9+5=% (x*=td2
, 23, 458 o ¥
()_(z :_[L_f—d‘l 2({:)) 30 _:;{ b x= 4z
=+ 2CE180= v % _,&%
x - ) ?8—30:68 x2+5$g ‘JEI J
é _7}7)5 63=03 A3)*+5=8
“/ ﬁ‘\.5 = 8

3 '*_5_":,3 _



Remember

7) (d+4)P*=16

NedthE = 2406

d+4 = £4
d= -4t
/N
- Ht b —H-4
O -3

9)3(x+ 1) +2=29
i

3(x+1) = 27

(x+l)
Jx+)? =

i bl

x+1 = +3
-)+3 -]-3
z -4

when

check~
(0 +H)* =1t
4% = b
16:1b
A
(-3+4) "= 16
-4)*=1b

"1 =1b
v

3(x+)+2=21
3(2+)*+2=21
3(3)%4+2 =29
3(9)+2 =29
27+2=29
29=29
w
2(x+N*+2:29
3 (4+)+2=2]
3(-2)*+2=29
3(9)+2=29
2742=29

29+29
v~

Let's take a lock at some more complex quadratic equations.
you take +he Sguare root
yc)u must uge +

of a numbef,

8) (y—5)" =49
W ® Sl chedk?
-5 = %7 (y-5)=49
/ . (:2 5) =49
y=357 =49
/ N\ 47/--4‘1
.’S‘ +7 5'7 (-y-f,)thq
12 -2- (-2*5)12‘1%
(-1)*=H1
Hq =49
v’
10) 4(m—9)* =52
H4 4
(m-‘i)z = |13
N (m-4)* -+J13
m-9 = £4i3
m= 9 43
T+ A3 9-473
o&ik_ 2
4(a+4T -9)252 4(9-113-9)"=52
4 (N13)*=52 4 (~A13)*-52
4(13) =52 4(13)=52
52 =52 v 52=52 V"

Quadratic Equations in the form of ax? + ¢ = 0 can be solved by taking
the Squdre

root

. Quadratic equations in the

form of ax® + bx + ¢ = 0 are solved by

and using the zero product property.

factoring




